) No o Can have 'Q/””tjmm( 2000’ '}%q-f
Aeoat X =yats.

1) \{Eﬁv Le@w‘ f"’\( T be lcv o W ,'me/(%
'h'uhl/ \/—> o % P, oae oA Packh Sy

3) I can. EX 2 i sl iy

L[) st ,' L’“l d-hﬁwl-ov\ L€ l t S fPvin Qn”{

| L(g) =0 o0 3 i P AT

) Yoo if F(N=0 4, f(D=-0 -0

6)
—7) ‘H"'{{“L L a Zere Jw ‘)L’A( l'vMLJ‘fi[
yeg

%) No éu+ 4‘%"’“1- w,‘” bfi
Think oF 7Lh< 71/«0’ ariinds. )(:—'M

| 24
ﬁ) Vps, (vld by 5OM+M,7 Lils, Y’Xa*"-

19 No b ] he WO Ac;‘ombff/ if
5%//_/ 7 _7ﬂﬂ§t040'~c OK’S(IMMHJL_ lf%(-

| FOD) = xR+ Jose + 2

) FCN=CN-1 20 iF n 5 e,

D FN= ) 2 0 e

3) 2|5 -3 W Yo -1L

i [0 -3Ldk6Y YYazo Slet127

£ O k31 2Utio et §k+110 =

&le =



o) 4 >< REPHICE (H:m
_ A x ) =x (-3 « (12)(142)
o -X #3x1 ey IRy &

>( . R b +Y4
| _><—-\ |
Xaﬂlx il ( X=X S :
~£X ~ KX -{5>< \
T kel
'“XL {’Q‘X"‘;

@ X_// I‘Fg{l

lf) (Jm 7 Sgunne %;L ﬁuf( Rre Feiwrs
au 3Cx <y, b - Yoy (eq
4SS i 7941/( Gt 2% on, WX 4S5

//
-~



